6.EE.3 I can apply the properties of operations-especially the distributive property-to generate equivalent expressions.
(10-1) I CAN create a visual model to show two expressions are equivalent.

(10-2) I CAN apply the properties of operations-especially the distributive property-to generate equivalent expressions.

Are the expressions equivalent? If so, which property makes them equivalent? Use substitution if needed to check for equivalency. (Remember, if no value is given for variables use 1, 2, 3, 4, or 5 so that you can work with small numbers. Just make sure to use a different value for each different variable in an expression.

1. 12+p+4 and 4+12+p

2. 30g-10 and 30*g-20

3. (7*z)*m and 7*(z*m)

4. 40w+12 and 8(5w-12)

5. 11*h*9 and 9*11*h

6. 6(2+3k) and 12+9k

7. 36+4-5 and 5-4+36

8. (w+d)+f and w+(d+f)

9. 64a-b and 8(8a+b)

10. 72+c+z and z+c+72

Apply the properties of substitution to determine if the pairs of expressions are equivalent. If the pair of expressions are equivalent, which property makes them equivalent? 

11. (11+v)+b and 11+(v+b)

b=5 v=2

12. 9+g+z and g+z+6


z=8 g=4

13. 8(3k+4) and 11k+12


k=4

14. 17h+h-2 h and 15 h


h=3

15. 8(z+5) and 16-40


z=2

Apply the properties of the operation listed to generate an equivalent expression for each expression listed below.

16. 7+d commutative property

17. 21*(j*x) associative property

18. (18+e)+2 associative property

19. 9(6+x) distributive property

20. z*m*6 commutative property

21. (a+21)+7 associative property

22. 3(7+z) distributive property

23. 15+(y+2) associative property

24. 12(k-3) distributive property
